Intentional Torts

Battery

In order to prove battery, ________(P) must show that ______(D) intended (with purpose or knowledge) to touch ______(P) without her consent. 

Cases

· Talmage – transferable intent

· <consent cases>

· Vosburg – implied consent would exist if both boys were on the playground

· Hackbert – implied consent in a sporting context applies only to conduct within the scope of the game

· Hudson – boxing match. cannot consent if there are public policy reasons against it
· Mohr – in a medical setting consent is required for the particular operation unless there is an emergency

Trespass

In order to prove trespass, __________(P) must show that ______(D) intended to be on _________(P’s) property without her consent. 
Cases

· Dougherty – no need to intend to trespass, just an intent to be where you were.

Chattel Interference
In order to prove conversion/trespass of chattel, _____(P) must prove that _____(D) took/used her chattel without her consent, and that use resulted in damage/non-usability.

conversion – when someone has interfered so much it is as if they have taken it for their own.
trespass of chattel – fucking with your shit

Cases

· Intel – no damage, so no trespass of chattel
· Ebay – potential for interference, and next best alternative so it was a trespass.

Emotional Harms
Assault

In order to prove assault, _______(P) must prove that _____(D) acted intending to cause physical harm or offensive conduct to her, and the act caused her to be in imminent apprehension.
Cases

· I de S. – Dude swings hatchet at lady but misses. Assault baby.

· Tuberville – dude puts hand on sword and says that if the judge wasn’t in town he’d bash his face in. Not assault.

· no matter that P could easily avoid the contact. 

· imminent required.

Offensive Battery

In order to prove offensive battery, _________(P) must be able to show that ____(D) acted intending to cause a harmful or offensive contact with her (measured by a reasonable person standard), and the offensive contact directly or indirectly resulted. 
<unreasonably offensive>

_______(D) may claim that the contact was not unreasonably offensive, but this will probably not work. The threshold for unreasonableness is easily reached. The Restatement states that kissing a sleeping person is unreasonably offensive. 
Cases

· De Longchamps – striking someone’s cane is enough

· Alcorn – deliberately spitting in someone’s face is assault

False Imprisonment

In order to prove false imprisonment, ______(P) must prove three things: (1) ____(D) lacked just cause (measured by a reasonable person standard), (2) _____(P’s) freedom of movement was impeded in total, and (3) there was restraint by actual or threatened force.

Cases

· Bird – keeping someone out of a place is not false imprisonment
· Colbin – reasonable standard for restraining someone must be used

· Herd – being kept somewhere a little longer than you want is not false imprisonment

Intentional Infliction of Emotional Distress

In order to prove intentional infliction of emotional distress, _____(P) must prove that _______(D) acted with intent to cause or reckless behavior that causes distress and that the community would find such behavior outrageous.
Cases
· Wilkinson – your husband is dead.

· Hustler v. Fallwell – free speech can trump it

Defenses
Insanity & minority status – not a defense (Almy)
Self-Defense

______(D) can claim self defense if he can show that either the plaintiff was assaulting him at the time of the incident or there was sufficient justification for his actions given the circumstances such that a jury should consider the matter.
Cases

· Courvoissier – shot the wrong person, but jury should consider the circumstances of the shooting

Defense of Property
___(D) must use the following progressive steps in defending his property: warning, moliter manus, and use of force without wounding (M’llvoy).

Cases
· M’llvoy – can’t shoot someone for trespassing [you could call the police]

· Bird – spring guns are not allowed without notice and only in some circumstances

· Katko – can only shoot someone on your property if they are committing a felony.

· In the U.S., protection of property with such means not allowed unless notice is provided and protecting dwelling house.
Recapture of Chattels

_________(D) can use a defense of recapture of chattels if he can show that the taking of his property was wrongful, and he is in hot pursuit.

Cases

· Kirby – taking must be forceful or with fraud

Defenses

· the recapture was not reasonable given the circumstances

Necessity

____(D) can argue that he had to commit his tort because of the necessity of the situation. ________(P) can argue that there was no pressing need for him to do what he did, and also that the next best lawful alternative was superior. Regardless of whether D succeeds, he will still have to pay for the damage he caused (Vincent).
Cases

· Ploof – D had to allow P to tie up on his dock and is responsible for the damage that resulted from expelling him.
· Vincent – necessity does not bar P from recovering for damage to his dock.

Negligence v. Strict Liability

Fletcher v. Rylands sets forth the principle that one is strictly liable for the damage they cause if they use their land in an unnatural way. 

Strict Liability Appropriate When:

· Person imposing the danger is in the best position to prevent an accident
· People cannot guard against the behavior

· People can bargain over efficient outcome because strict liability provides a well-defined property right

Negligence Is Appropriate When:

· Activity levels are not that important

· People can guard against danger

· Bargaining is difficult and administrative costs of dispute resolution are high.

Theories of Tort Law

Holmes – let harm rest.
· 1) was it a reasonable thing to do it, and 

· 2) did you do it in a reasonable way?

Coase – set property right and let people bargain to the efficient solution

Calabresi – transaction costs are high so try to find the least cost avoider and make him responsible. insure people by finding a deep pocket that can spread the risk.
· goal of tort law is to reduce overall cost of accidents

· reduce the number and severity of accidents

· reduce social cost of accidents through compensation

· reduce the cost of administering the payouts
Aristotle – corrective justice. make people pay for the harm they cause.

Fletcher – make people pay for the non-reciprocal risk they impose upon others. 

Negligence

The elements of negligence are duty, breach, causation and injury.

Defenses

· injury would have happened anyway

· Contributory/comparative negligence

· Assumption of risk

· Custom

Reasonable Person

Vaughan sets forth the principle that the standard to be used is that of an objective reasonable person, not the person’s subjective state. 
_________(D) can argue that she should not be held to the standard of an average reasonable person because of her disability/insanity/youth (Fletcher/Breunig/Daniels). 

Cases

· Vaughan – objective standard is used, not subjective standard.

· Roberts – Elderly man held to standard of a regular prudent driver

· Daniels – kids held to kid standard when doing kid activities

· Breunig – insanity is no defense unless there was no warning

· Fletcher – blind person held to reasonable blind person standard

· Robinson – drunk person held to sober person standard
Calculation of Risk

_____(P) can recover under a general negligence theory by showing that ______(D) had a duty of care towards her in ______________(action) and _____________(D) breached that duty. _________(P) can show the breach by using the Carroll Towing formula B<PL. 

Cases
· Eckert – risking life to save child was not negligent
· Cooley – no breach if change in behavior would increase the risk to someone else

· Carroll Towing, Brotherhood Shipping – B<PL

· Lyons – presumptions of negligence can be used

· Andrews – common carriers have a higher standard of care so B<PL not appropriate

Defenses

· Burden not cost justified

· Burden would increase the risk of other type of injury or injury somewhere else

· Statutory decree created standard and was met (Blyth – water pipes)

Custom
In this case ___________(D) can use a defense of custom. However, under T.J. Hooper custom is not an absolute defense. If the cost of prevention is sufficiently low and the danger sufficiently serious, defendants must exercise a level of caution, regardless of custom.  

· evidence that it is the most efficient solution

· courts are wary of industry collusion
Medical Malpractice and Custom

In order to succeed in her action for medical malpractice, _______(P) must prove that there exists a relevant standard of care, _____(D) violated that standard, and that violation caused _____(P’s) injury.
Cases

· Lama v. Boras – back surgery, no conservative treatment

· Helling v. Carey – ophthalmologist, stupidly not following custom.

· Canterbury v. Spence

· custom not applied to community standards cases. 

· doctor’s must divulge information that a reasonable person would attach significance to.

Defenses

· Causation

Statutes
________(P) can sue under a theory of statutory per se negligence. When ________(D) violated the _________ statute, she was negligent for breaching duty of care established by the statute. In order to use the statute, however, ______(P) must show that she is a member of the class of people that the statute was intended to protect, and the injury suffered was in the class of injuries the statute was concerned with (Gorris v. Scott). 
Cases
· Osborne – poison

· Martin – no lights

· Tedla – walking wrong way on road against statute

· Gorris – sheep pen

· Brown – chiropractor. wrong kind of injury

· Ross – keys in the car against statute

· Uhr – school testing. legislative intent test to see if statute should create a private right of action.

· P is one of the class who the statute was designed to protect and

· the legislative intent would be furthered by allowing a private right of action

Defenses

· it would have been more dangerous to follow the statute (Tedla)

· goes against legislative intent to follow statute (Uhr)
Res Ipsa

<first time>

For _____(P to recover on a theory of negligence she would have to prove that _______(D) breached their duty of care towards her. Since she cannot prove what precipitated the accident she could use a res ipsa theory.

<every time>

In order for _____(P) to prevail on a res ipsa loquitor theory she would have to prove three things: (1) the accident does not usually occur in the absence of negligence, (2) the accident was caused by an agency in the exclusive control of _______(D), and (3) the harm was not due to any voluntary action by ______(P). If she can prove these three elements, the burden will shift to ________(D) to prove that he was not negligent and not the cause of the accident.
Cases
· Byrne – falling barrel

· Hotel cases – exclusive control

· if hotel had warning then they may be responsible for their guests conduct

· Colmenares – escalator. higher duty of care can mean exclusive control does not really mean “exclusive”

· Ybarra – D’s do not need exclusive control if they are part of a concert of action and D’s are in a better position to know who committed the injury

· Anderson – forceps case. D’s do not need to be in a better position to know who committed the injury.

Defenses

· Not acting in concert

· P did something that caused the accident

Assumption of Risk
_______(D) may argue that ________(P) assumed the risk. In order to prevail, _________(D) must show that the risk was open and obvious, as well as _______(P) engaged in the activity voluntarily. This argument is more likely to prevail in a case having to do with recreational activities.
Cases

· Lamson – hatchet falling
· Murphy v. Steeplechase – the flopper

· Fireman rule

· Obstetrics – expressly signing away your rights may not be enforceable if:

· the person didn’t read it

· the person had no opportunity to bargain over the terms.
Contributory Negligence or Comparative Negligence – P v. D

If _____(place) is a contributory negligence jurisdiction, then _____(P) will be barred from recovering any money. If ______(place) is a pure comparative negligence jurisdiction (as in Li) then _______(P) will be able to recover an amount proportionate to _______(D’s) culpability. If _________(place) is a 50% system then ______(P) will be able to recover as long as her fault is not more than _________(D’s).  

Cases

· Li v. Yellow Cab
Imputed Contributory Negligence

Under a theory of imputed contributory negligence, if both parties are closely bound in an action, the one party’s contributory negligence can bar the other party from recovering (Mills v. Armstrong).
Joint and Several Liability or Comparative Fault – D1 v. D2

Since there are multiple defendants, there is a question of whether or not they should be held jointly and severally liable. If they were held jointly and severally liable, it would allow _________(P) to recover the full cost of her injury, but might place more liability on a defendant than is fair given his responsibility.  In American Motorcycle, a comparative fault scheme was adopted where liability is assessed in direct proportion to fault. Under this rule each defendant could attempt to recover any damages she had to pay in excess of her share of the fault from any other co-defendant. 
Cases

· American Motorcycle Association
Vicarious Liability

In order for ______(P) to establish that _______(employer) was vicariously liable for _______(employee’s) negligence, ______(P) must establish that ________(employee) was an employee and that __________(employee) was acting in a manner related to his employment (Ira S. Bushey). 

<independent contractor>

Even if someone is not an actual employee of an employer, the employer can still be held vicariously liable for that person’s actions if the person is acting under the apparent authority of the employer or under the implied authority of the employer. 

<apparent authority>

Under a theory of apparent authority, an employer can be held responsible for someone’s actions it appears to the general public that the person is an employee of the company (Petrovich).
<implied authority>

Under a theory of implied authority, an employer can be held responsible for someone’s actions if the employer retains control of how the work of the employee is performed (Petrovich).

But For Causation

<general requirement>

In order to satisfy the requirement of but for cause causation, __________(P) must show that _______’s (D’s) act was more likely than not the cause of his/her injury.  

<shifting the burden of proof>

However, as in Reyes, if negligence is shown then the court can shift the burden of proof from P to D to show that the act was not the cause of the injury. 
<nonexistence of evidence>

Drawing an analogy to Haft, the nonexistence of evidence of causation here is due to the defendant’s negligence, so the burden of causation should shift to D.

<circumstantial evidence>

In order to prove but for cause via circumstantial evidence, expert testimony proving the temporal closeness, the exclusion of other causes, and analogous situations can be used. The standard employed is “more likely than not”.  It must be “more likely than not” that the negligence caused the injury.

Cases

· Grimstad – wife tried to save drowning husband

· Zuchowics – negligent prescription of overdose of drug

· Herskovits – decreased chance of life in misdiagnosis of cancer

· Kingston – both parties are joint and severally liable for separate but independent sufficient causes of fire damage

Summers v. Tice

Drawing an analogy to Summers v. Tice, ________(P) can argue that both parties could be held jointly and severally liable for the injury. Under this theory P must show that both defendants were equally negligent, they acted simultaneously, one of the defendants definitely caused the injury to ______(P) and _________(P) cannot determine which _________(D) caused the injury. If ________(P) can prove this, then both defendants will be held jointly and severally liable. 
Market Share Theory

______ (P) can argue for recovery under a market share theory. In order to succeed _________(P) must show that all the defendants are potential tortfeasors, the products are identical with respect to their danger, ______(P) is unable to determine which defendants caused her injury and substantially all manufacturers are brought into the suit.
Cases

· Skipworth – lead paint. not successful because of problem getting the market and the products was not fungible

· DES – the standard case for market share liability.

There are problems with the market share theory, however. If the products are not identical, then this theory should not apply. Also, defining the market is problematic.
Proximate Causation – Causal Chain

In order to hold _____(D) responsible for the injury, _________(P) must prove that _______(D) was the proximate cause of the injury. ________(D) can argue that the causal chain was too long and thus the court cannot hold deem him the proximate cause of the act. 

Cases

· Ryan – fire started from railroad. No liability because it would kill the insurance market.

· Brower – train collision. thieves steal cargo. intervening acts don’t kill proximate cause.

· Watson – malicious intervening acts do kill proximate cause.

· Wagner – D liable for injury in rescue situation, if situation created by D.
Proximate Causation – Foreseeability

Polemis

Under a Polemis test, the court looks to see if the injury was a direct consequence of the negligent act.

Palsgraf

Under the Palsgraf test, there is a two-horse parlay. The court must consider whether Rachel owed a duty to a foreseeable plaintiff and whether the category of harm which resulted was foreseeable. 

Wagon Mound

Under Wagon Mound, the specific harm to this particular plaintiff and the way that harm came about must be foreseeable at the outset in order for there to be proximate cause. 

Kinsman

Under the Kinsman test, if there was a foreseeable general risk to this class of plaintiffs at the outset, then the defendant is liable for all harms that take place, whether or not those specific harms were foreseeable. 

Marshall

Under the Marshall test, the court must determine if the harm has “come to rest”. If it has, then there the negligence was not the proximate cause of the injury. 
Emotional Distress

<impact rule>

_________(P) can recover for negligent infliction of emotional distress under the “impact rule” so long as there was any impact on her person from the accident.

<zone of danger>

______(P) can recover for negligent infliction of emotional distress under the “zone of danger” rule as long as she was nearly hit in the accident.

<Dillon v. Legg>

_________(P) can sue _______(D) for negligent infliction of emotional distress under Dillon if _______(P) can satisfy four elements: (1) plaintiff was near the scene of the accident, (2) the emotional injury was the result of viewing the accident, (3) the plaintiff and the victim were closely related, and (4) the plaintiff has displayed a physical manifestation of the emotional injury. The courts have required a plaintiff to satisfy all four elements. 
Cases

· Mitchell – team of horses almost smoked a lady and she had a miscarriage

· Dillon v. Legg – Mother watched her kid get run over by a car and went into shock.

Duty

In general, a person has no duty to rescue another person in distress. There are exceptions, however. Some courts recognize a duty to rescue when one has created the dangerous situation, as well as a duty to rescue without negligence when a rescue has begun. 
Cases

· Buch – eight year old trespassed onto property. no duty.

· Hurley – doctor has no duty to rescue patient

· Montgommery – accident obstructed highway. driver put out flashing lights. two possible bases for negligence: undertaking duty and creating the obstruction.

· Coggs – moving brandy. Duty to do it without negligence

· Thorne – duty can be created by promissory estoppel

· Erie R.R. v. Stewart – gratuitous undertaking + reliance = duty

· Marsalis – cat with rabies. gratuitous undertaking + reliance = duty

· Moch – reliance not enough to create duty without privity. public policy

· water company is not insurance co., and market will break down if they have to be since it is unclear how much fire damage could result.
· slippery slope to tort explosion if every promise creates a duty

· King – reliance can create a duty to a third party if:

· action increase the risk of harm to that person,

· someone else’s duty was undertaken

· harm results in reliance on that undertaking

· “foreseeability is the test” it is foreseeable that harm may result to the consumer if the co. didn’t exercise care in promulgating their standards. 

Defenses

· Allowing liability would lead to market failure as in Moch

· reliance was unjustified
Products Liabiliy
Overarching Economic Considerations of Strict Liability

· relieve consumers of problems of proof

· manufacturers can better control the danger

· consumers are powerless to protect themselves

· cost spreading

Privity

There is no longer any requirement of privity or warranty in products liability cases if the plaintiff is suing under a theory of strict product liability. 
Tort or Contract

If the damage was only to the thing itself, then ___(P) cannot recover. 

Cases

· Casa Clara – Concrete in house was exploding.

· not enough that there was a potential for personal injury

· harm was to the product itself

· “product” means the thing that the end user buys

Seller Determination (Proper Defendant)
402A Comment f

· 402A comment f requires that the seller be engaged in the business of selling. 

· availability of others in the supply chain to be sued
· best position to control the danger
· supplier in a better position than consumer to control the circulation of defective products
· loss spreading
Cases

· Cafazzo – doctor inserting prosthetic jaw.

· best position to control

· loss spreading

· Murphy – pharmacist not held liable for selling DES

· pharmacists are more service providers

· public policy problem – pharmacists may not sell some drugs

· good alternatives

Tackling Manufacturing Defects

________(P) can recover if the product was manufactured with a defect. If ______(P) is lacking direct evidence, she can prove this by circumstantial evidence provided she can show that (1) the product did not perform as intended and (2) she can exclude all other reasons for failure that are not attributable to _____(D). 

Cases

· Speller v. Sears – fridge started fire but D said the stove started it.

Defenses

· D should provide evidence that there was another cause of the injury, but this will then be a question for the jury.

Tackling Design Defects

Three Theories Plaintiffs Can Use

1. Implied Warranty

2. Strict Liability

3. General Negligence

Implied Warranty of Fitness (McCabe)
1. Must be a seller

2. Must be in privity with the seller (buying for someone is ok)
3. Could be disclaimed

4. Must be latent

General Negligence

<one time only>

If _____ sued on a general negligence claim, he would have to prove that the maker owed her some duty of care to make the product safe, and that duty was breached by either negligent manufacture of the product or negligent design.

<every time>

Under a theory of general negligence, ______ would have to prove liability for any reasonably foreseeable design defect that is latent to the user (MacPhereson v. Buick Motors).

Manufacturing Design

Possible Defenses

· Intervening act

· Plaintiff’s conduct

The Design Defect

<optional step> Contributory Negligence (Assumption of Risk)

· 402A comment n – only applies when consumer had found out danger or should have found out danger but went ahead anyway and used the product
<optional step> Foreseeable Misuse
· Talk about when the use of the product is unexpected or you wouldn’t expect the product needed to be designed for that

· getting into an accident (Volkswagon)

· used in a way that is obviously unreasonable (Linnegar)

<necessary step> Different Theories of Design Defect
· 402A Comment i – “a product that was dangerous to an extent beyond that which would be contemplated by an ordinary consumer”

· PATENT DEFECTS EXCLUDED

· <every time>
____ must show that the product was “unreasonably dangerous”, where “unreasonably dangerous” means dangerous to an extent beyond that which would be contemplated by an ordinary consumer.

· <or>
____ would have to show that Mattel made a product that was dangerous to an extent beyond that which would be contemplated by an ordinary consumer.

· Barker – consumer expectation +

· D has burden to prove that design choices were reasonable.

· benefits of design choice outweigh costs of alternative

· If the court adopts the holding in Barker, _________(D) has the burden of showing that its design choices were reasonable in the face of the alternative design choices it could make (where “reasonable” means that the burden of an alternative design choice was outweighed by the probability of the decrease in injury and the severity of that injury). 

· Potter – consumer expectation + alternative design +

· Jury can determine that benefit of product does not outweigh the cost it imposes on society.

Cases

· McCabe – blowing up coffee maker (implied warranty)

· Volkswagon – manufacturer is responsible for foreseeable misuse

· Micallef – “open and obvious” is not a complete defense

· Barker – consumer expectation + alternative design (burden on D)

· Linegar – foreseeable use does not include use that product could not possibly provide

· Obrien – consumer expectation + product may not be justified at all

· Potter – consumer expectation + alternative design + product justified

· Halliday – consumer expectation can’t be trumped when there is legislative action that doesn’t want to go there.
Defenses

· Causation: Injury would have happened anyway

· D _____ can reduce his liability if he can prove that the injury wasn’t the fault of the defective product. (Volkswagon)

· Plaintiff’s conduct

· Daly – comparative negligence
· Assumption of Risk

· 402A. comment n. 

· Wasn’t dangerous when it left the plaintiff’s hands

· If some misuse made it unsafe, then not manufacturer’s fault

· <policy>

· Company cannot test against every eventuality
· (see defective warning below)

Defective Warning

402A Comment J – duty to warn

402A Comment K – inherently unsafe products are fine if they have a warning

Restatement Third

a product is defective because of inadequate instructions or warnings when the foreseeable risks of harm posed by the product could have been reduced or avoided by the provision of reasonable instructions or warnings by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the instructions or warnings renders the product not reasonably safe.
<every time>

Did ______ (D) discharge its duty to warn by printing _______ on the ____? Probably not given the stringent standard the courts hold manufacturers to. Under the formulation in the Restatement Third, a ________(D) is liable for a product if a foreseeable risks of harm could be reduced by reasonable instructions or warning.
· all was warned

· specific enough of particular danger (MacDonald)

· signal/noise

Cases

· MacDonald – need specific warning of danger

· Vasallo – need to warn of things that could have been discovered

· Hood – cost/benefit of adding a warning

Defenses
· Consumer should have known

· Manufacturer had no duty.

· <policy>

· companies cannot get insurance if they are held responsible for everything they should have warned against.

· this product has a positive externality and the industry will not be able to survive if liability is imposed

· the court should be sure that they are getting it correct, because other beneficial products have been hurt in the past

· providing disincentives to getting products to market in an appropriate time
Plaintiff’s Conduct

Daly – plaintiff will be comparatively negligent.

Federal Preemption
Geier – if there is a conflict between a state made rule and a federal rule, then the federal rule wins.

Misrepresentation

In order for _________(P) to win on a theory of misrepresentation she must prove four things: (1) a statement of fact is false, (2) the lie was intentional or made with reckless disregard for the truth, (3) _______(P) reasonably relied on the statement, and (4) ______(P) suffered an economic loss as a result.

Cases

· Pasley – creditor lied to by third party about debtor being a good credit risk. Guilty.

· Vulcan metals – seller of business lied that vacuum was awesome and that it had never been marketed before. Lie about it never being marketed was a misrepresentation.

· Swinton – homeowner did not divulge that house was termite ridden. Old rule here is that there was no duty to tell, but new rule is that there is such a duty.

· Laidlaw – no duty to divulge about changing market conditions

· Edgington – D lied on prospectus inducing P to invest. 

Negligent Disregard

In order for ______(P) to win on a theory of negligent disregard for the truth she must prove five things: (1) the statement was false, (2) the false statement was made negligently, (3) the plaintiff reasonably relied on the false statement, (4) the plaintiff suffered an economic loss as a result, and (5) the plaintiff was in privity with the defendant.

Cases

· Ultrameres – no privity between auditing company and plaintiff so no recovery.

· allowing recovery would lead to slippery slope.
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